Recall the following from 2.6 limit at Enfimity Infunte lemit  $\lim_{X \to q} f(x) = \infty$  $\begin{array}{l}
\text{lim} f(x) = L \\
x \rightarrow \infty
\end{array}$ It the time I the line y=L is an x = q is a vartical agymptote Horizonfal adjugate  $f(x) = \frac{1}{x}$ Infinite limit (DN5) 720  $\frac{1}{x \to 0} \frac{1}{x} = -\infty$  $\lim_{X \to 0^{4}} \frac{1}{X} = \infty$ I we X=0 is a Une x =0 is a verticed grapht vertical aggriptite fox)= IX  $\lim_{x \to -\infty} \frac{1}{x} = 0$  $\lim_{x \to \infty} \frac{1}{x} = 0$ Y=0 the Jzo is and Une is an y 20 horizentasymptote horizonbul asymptote

Theorem  $\frac{1}{\chi - \infty} = 0 \quad (70)$  $\frac{3x^2 - x - 2}{x^2} = \frac{3x^2 - x - 2}{x^2}$   $\frac{3x^2 - x - 2}{x^2} = \frac{3x^2 - x - 2}{x^2}$   $\frac{3x^2 + 4x + 1}{x^2} = \frac{5x^2 + 4x + 1}{x^2}$   $\frac{5x^2 + 4x + 1}{x^2} = \frac{5x^2 + 4x + 1}{x^2}$   $\frac{5x^2 + 4x + 1}{x^2} = \frac{5x^2 + 4x + 1}{x^2}$ Exercise  $\frac{X}{X^2} = \frac{1}{\sqrt{2-1}}$  $\frac{5x^2 + 4x + 1}{2}$ = lim  $\frac{3x^2}{x^2} - \frac{x}{x^2} - \frac{2}{x^2}$ hoffeet degree in ste denominator X-72  $\frac{5x^{2}}{x^{2}} + \frac{4x}{x^{2}} + \frac{1}{x^{2}}$  $= \lim_{X \to \infty} 3 - \frac{1}{X} - \frac{2}{X^2}$  $5 + \frac{4}{2} + \frac{1}{2}$  $\lim_{x \to \infty} \begin{pmatrix} 3 - 1 - 2 \\ x \\ x \end{pmatrix}$  $\lim_{x \to \infty} \left( 5 + \frac{4}{x} + \frac{1}{x^2} \right)$ floren  $\lim_{\chi \to \infty} \frac{1}{\chi r} = 0$ (r > 0) $= \lim_{x \to \infty} 3 - \lim_{x \to \infty} \frac{1}{x} - \lim_{x \to \infty} \frac{2}{x^2}$  $\lim_{X \to 0} 5 + \lim_{X \to 0} \frac{4}{X} - \lim_{X \to 0} \frac{1}{X}$ lim 3 - lim 1 - 2 lim 1 x-200 x - 2 lim 1 lunc 2 C  $\lim_{X \to a} 5 + 4 \lim_{X \to a} 1 - \lim_{X \to a} 1$ XJa Lm 3 = 3 X700 -3-0-2(0)Um 5 = 5 x-700 5 + 4(0) - 0= 3/5

Infinite limit at Infinity  $\lim_{x \to \infty} f(x) = \infty$  $\infty$  $x \rightarrow \infty$ -0 (-X (m = -00 x-)-00  $U = e^{\chi} = 0$ X-Jas End behavior of a function How a finishing behaves as X > as and as X > - as  $f(x) = 3x^5$  [Name  $g(x) = 3x^{5} - 5x^{3} + 2x^{7}$ X-mtereft (Zeros) g(x) - f x - 5x + 2x graph f(x) = 3x5, have Smiler behavor -1000 -10 -2 -2 -10 100  $as \times \rightarrow a , \times \rightarrow -a$ 27 and Rates of change Derivatives

27 Derivatives and Rates of change  $f(\alpha) = f(\alpha) + f(\alpha) +$ Que want to find the tangent line to the Curve y=fox) at the point p > Accall our approach, is to pick a nearby point Q(x, for) (x==) we can compute the shope  $M_{PQ} = \frac{f(x) - f(a)}{x - q} \left( \begin{array}{c} slope \\ secant \\ me \\ pq \end{array} \right)$ we let a appach p along the curve, by letting x approach a motre Mpg m m is the stope of the tangent love to the Curve at the point p Definition The forgent line to the curve y=fex) at the point P(a, f(a)) is the time through P with shope  $M = \lim_{\chi \to \alpha} \frac{f(\chi) - f(\alpha)}{\chi_{-\alpha}}$ = le Mpa x-75 Example Find the equation of the tangent line to the

Parabola 
$$y = x^2$$
 at the point  $p(1, 1)$   
Shitting  $f(x) - f(x) = \lim_{x \to 1} x^2 - 1$   $x^2 + haves
 $M = \lim_{x \to 1} \frac{f(x) - f(x)}{x - 1} = x - \frac{1}{x^2}$   
 $= \lim_{x \to 1} \frac{x^2 - 1}{x - 1} = \frac{1}{x^2 - 1}^2$   
 $= \lim_{x \to 1} \frac{(x + f(x + 1))}{(x - 1)(x + 1)} = \frac{1}{(x - 1)(x + 1)}$   
 $= \lim_{x \to 1} \frac{(x + 1)}{(x - 1)(x + 1)} = \frac{1}{(x - 1)(x + 1)}$   
 $= 1 + 1$   
 $= 1$   
To find find the equation of the (myst line, one the  
point - stope form when  $(x, -1) = (1, 1)$   
 $y - y = m(x - x)$   
 $y - 1 = 2(x - 1)$   
 $J = 2x - 1$   
 $M_{R_{2}} = \frac{f(x) - f(x)}{x - x}$   
Different approach  
 $f(x + 1) = \frac{1}{x - 1}$   
 $M_{R_{2}} = \frac{f(x) - f(x)}{x - x}$   
 $M_{R_{2}} = \frac{f(x) - f(x)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)}{x - x}$   
 $\int (1 - \frac{1}{x - 1}) \frac{f(x - 1)$$ 

 $f(a) = \lim_{X \to a} \frac{f(x) - f(a)}{X - a}$  $f'(a) = \lim_{h \to 0} \frac{f(a+h) - f(a)}{h}$ Honework due on Sentinday 59/19 25,2-6